
 



 



 



 



 



 



 



 



 



 



 

clear all 
close all 

  
time = -2:0.01:2;  % 8 seconds gives us 8 cycles 
Vin = [(4*time(1:99)+6),(4*time(100:199)+2),(4*time(200:299)-

2),(4*time(300:401)-6)]; 

  
%%%%%%%%%%%%%%%%%%% part a %%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%% 
Vout2 = -2*Vin; 
Vout1 = 10*(Vin>31/20)-10*(Vin<31/20); 



figure(1) 
plot(time,Vin,'b','linewidth',2.5) 
hold on 
plot(time,Vout2,'r','linewidth',2.5) 
hold on 
plot(time,Vout1,'g','linewidth',2.5) 
xlabel('Time(s)') 
grid on 
legend('Vin','Vout2','Vout1') 
title('Problem 10 part a') 
%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%% 

  
%%%%%%%%%%%%%%%%%%% part b %%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%% 
Vout2 = -2*Vin -(1/5)*Vout1; 
Vout2(Vout2>=10)=10; 
Vout2(Vout2<=-10)=-10; 
figure(2) 
plot(time,Vin,'b','linewidth',2.5) 
hold on 
plot(time,Vout2,'r','linewidth',2.5) 
hold on 
plot(time,Vout1,'g','linewidth',2.5) 
xlabel('Time(s)') 
grid on 
legend('Vin','Vout2','Vout1') 
title('Problem 10 part b') 
%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%% 

  
%%%%%%%%%%%%%%%%%%% part c %%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%% 
Vout2 = -2*Vin; 
Vout1 = 10*(Vin<-11/40)-10*(Vin>-11/40); 
figure(3) 
plot(time,Vin,'b','linewidth',2.5) 
hold on 
plot(time,Vout2,'r','linewidth',2.5) 
hold on 
plot(time,Vout1,'g','linewidth',2.5) 
xlabel('Time(s)') 
grid on 
legend('Vin','Vout2','Vout1') 
title('Problem 10 part c') 
%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%% 

 



 



 



 



 

 



 



 



 

 


